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! Day 6: Graphing Piece—Wis Functions

Warm-Up: Use the following function to answer #1-4 fis, A
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PIECE-WISE FUNCTIONS COETINUED

Write equations for the piecewise functions whose graphs are shown below. Assume that the units are 1
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Another Application: We also see piece-wise Functions in our ‘rcx s?ruc?ur'e um o xW%f% i ’W\ $’§ {0‘%;
[ 0, if 0 <x <15,000 *For income at or below $15,000, no tax is charged.

. *Above $15,000 and at or below $40,000, the rate is
Flx) = 0.15(x —15,000), if 15,000<x < 40,000 15% for all monies earned over $15,000.

6000 + 0.25(x - 40,000), if 40000<x < 250,000 | *Above $40,000, the rate increases to 25% on al

. monies earned over $40,000 (where did the $6000 &
L 37,500 +0.40(x — 250,000), if 250,000 < x come from?), until income is $250,000.

*Above that level, the rate is 40%. (Where did the
$37,500 come from? %3,

How much would | owe in taxes if I made
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